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%5 EARERAH i B AR (1 mi=o%)
QRN E= D) SBkE AR
— 5K 660 | 1nfi ~ 10n T 55 A,/ m
11m ~ 20m T 154 M,/ m
21m ~ 50m T 181 B,/ i
51mi ~ 100m T 203 8,/ m
101m ~ 500m *T 220,/ m
501m ~ 1000m& T 231 M,/ m
1001m LlE 264 8,/ m
BI5EK TmizDE 43 1,/ m
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(B 2HBmKEFEAKEN 61 wDIBE
KFPIKEDKEKMUNDKEFERA ULESIE. KEBERKE+HPKEDFERAKE=TKEFAKSELET,

1. 1HBCEDTRKEFERAKEESTE
D BEHBOFADKE = 61 ~ 28 = 305 = 30t
@ BHBENUADKE = 61 — 30m = 31 m

2. PKERANEFE

O ®EtAORIAD FKEEAR Q2 ®mEAOHUAATKEFEAN
A EAREAR = 660 |A EXFERH = 660M
B @@ EAR B @@ EAR
1~10 mEco#s 55 HAX10m= 550 [ 1~10 Moy 55 FAX10m= 550 [
11~20 mzcnms 154 X 10 ni= 1,540 [ 11~20 mzcoms 154 AX10 d= 1,540 M
21~30 nizcozps 181 AX10ni= 1,810 21~31 Mizcotms 181 HX11 ni= 1,991 M
/NET 3,900 M INET 4,081 H
TAREERAN TAEFERM
(A+B) X HER (1RXETH) (A+B) X JBER (1HkHTH)
(660 +3900 @) x1.1= 5,016 M (660 H+4,081 @) x1.1= 5215 M
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